A

EXPEDITIEON ;I'.r-.n'.E

JKWRANGLER

INSTALLATION GUIDE

Charcoal Cannister Skid




EX FEDITIOMN |':_.'|'.'-.rE

CONTENTS

CONTENTS

Charcoal Cannister Skid Install ..., 3

Disclaimer

Expedition One is not responsible for any damages to vehicle.
We always recommend professional assistance when
installing our vehicle products.



EX FEDITIOMN |':_.'|'.'-.rE

JKWRANGLER

Included Hardware:

2011 or below models use existing canister bolts

Below items are for 2012+
(4) 3/8" button head bolts
(4) 3/8" washers
(4) 3/8"locking nuts
(2) 5/16" hex bolts
(4) 5/16" washers
(2) 5/16"locking nuts

Tools:

5/8" socket wrench

2012+ tools listed below
13mm socket wrench
7/32" allen wrench
9/16" socket wrench

Skill Level:

1/5 stars



ExXFE DITION |':_.'|'.'-u'E

JKWRANGLER

*Note - This part of install is for 2011 and older models

First, disconnect wiring from the charcoal canister under the
vehicle.

Shown to right is the removal of hose lines on back of canister.




EX FEDITIOMN i

JKWRANGLER

Remove rear mounting bolt shown to right.

Remove the two front mounting bolts and drop canister out of
place.




EX FEDITIOMN |':_.'|'.'-.'E

JKWRANGLER

Lay canister skid on flat surface and drop/maneuver canister into place as shown below.

Carefully place canister/skid back into position under the vehicle, reattaching the stock bolts and securing
tightly.




EX FEDITIOMN |':_.'|'.'-u'E

JKWRANGLER

Re plug and attach your electric wire(s) and hose back into canister.




*Note - This part of install is for 2012+ and newer models

First, disconnect wiring from the charcoal canister under the
vehicle.

Shown to right is the removal of hose lines on back of canister.




Remove rear mounting bolt shown to right.

Remove the two front mounting bolts and drop canister out of
place.




After removing bolts, remove canister from under the vehicle and
place on a flat surface to work on.

Using a 13mm socket and wrench, undo the bolt at the back of the
canister.

Remove canister from mounting bracket shown at right.




Screw on bracket with nut, bolts and washers as shown in photo to
the right making sure they are loose.

Slide bracket over canister

Attach the smaller bracket on the bottom of canister as shown
with nut, bolt and washers. You may now tighten these bolts down
securely.




Slide your canister into the charcoal canister skid as shown

Use button head bolts, washers and nuts provided to secure into
place.

This is the finished look before it gets mounted to vehicle.




EX FEDITIOMN |':_.'|'.'-u'E

Carefully place canister/skid back into position under the vehicle, reattaching the stock bolts and securing
tightly.

Re plug and attach your electric wire(s) and hose back into canister.




